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Be sure to put your name and your TAs name or section letter on your exam booklet.  Explain all your answers.   In each question, B-D is a True/False/Uncertain question.
ANSWER 4 OF THE 5 QUESTIONS.

1.  A.  Explain the phrase “Price Discrimination,” and provide an example.
Charging higher prices to those demanders that have more elastic demands.   Accept any reasonable example. 
B.  Unlike statistical discrimination, the economic impact of taste based discrimination (bigotry) by employers can be reduced through competition by non-bigoted employers.
True.  With bigotry, the value of the marginal product of the workers in the discriminated group will be lower than the average marginal product of these workers.  Non-bigoted employees can therefore earn a profit by employing the discriminated against employees.  With competition among such employers, the wage of the discriminated employees will increase towards the level of their marginal product.  In contrast, with statistical discrimination (use of a personal characteristic as a proxy for factors adversely impacting the average value of the marginal product), no such profit opportunity exists. 
C.  .  If comparable worth legislation compels employees to pay 20 percent higher wages to clerical workers the likely effects include an increase in the average value of the work of clerical workers.

True.  In response to a requirement to pay higher wages, employers are expected to reduce the number of clerical workers.  The will result in a movement “up” the value of the marginal product curve, raising the average value of the work of the clerical workers.
D.  Both price searchers and price takers will maximize profits by increasing output as long as marginal revenue exceeds marginal costs, and price exceeds average costs.
True.  For both price searchers and price takers, the benefit from increased output is the additional revenue from the output increase, which is the definition of marginal revenue.  And the costs of increased output for both is the marginal costs.  The difference is that for price takers, the marginal revenue equals the price while for price searchers it is less than the price.  For both cases, the seller should produce no output (that is, has no comparative advantage in the output of the good at issue, if the price is not greater than average costs.
2.  A.  Explain the phrase “Increasing Returns,” and give an example.
Increasing returns means that a doubling of inputs applied to a given scale establishment (e.g., the amount of capital equipment) will more than double output.  An example should reference the gains from specialization as the use of the inputs increase.
B.  In a market economy in which consumers’ demand changes among various goods, some unemployment is efficient.
True.  Changes in consumers’ demands among various goods imply that the output of some goods will be increasing while others are decreases.  This means that labor resources will need to be redirected from one sector of the economy to another sector.  As the amount of labor demanded falls in the declining sector, it will be efficient for some labor resources to take time to gain information about the next best sector in which to enter the supply of labor.  Such time is manifested in unemployment. 
C.  If consumers injured by unsafe products are awarded damages equal to the amount required to make them indifferent to having the injury (and the compensation), it is likely that firms will over-invest in product safety. 
True.  Like the value of a statistical life (defined below in 3.A.), the cost of a statistical injury (the compensation required to take on a small risk of injury) is expected to increase at an increasing rate as the probably of such injury rises.  This implies that the cost of a certain injury is greater than the cost of a probabilistic injury divided by the probability of it occurring.  For example, a consumer may be willing to incur a 1 out of a 1000 chance that a arm is lost in an industrial accident for a payment of $500.  If 1000 people take on this risk, the expectation is that one worker will suffer the loss of an arm, and that as a group, the “cost” of the risk is $500,000.  It is therefore efficient to eliminate that risk if it can be accomplished for $500,000 or less.  However, a substantially larger sum would be required to have a worker agree to give up an arm (a certain loss).  And if compensation to the worker sustaining the injury is this larger amount, firms will inefficiently eliminate the risk if it can be accomplished for any amount less than this substantially larger amount than the value of the risk elimination to the workers.  
D.  We do not expect labor unions to care about the level of the minimum wage since unions workers earn more than the minimum wage.
False.  Labor unions face potential competition from non-union employers.  Such competition will lower the demand for the products of the unionized employers and thereby cut back on the employment of these workers.  The union can minimize this threat by taking actions to raise the costs of the non-unionized shops.  Higher minimum wages can be one way to accomplish this.

3.  A.  Explain the economic concept of the “Value of a Statistical Life,” and give an example.
The amount individuals require to be indifferent between taking on a probabilistic risk of death divided by the probability of the death occurring.  For example, being a window washer on a very tall building may result in an added 1 out of 10,000th risk of dying by falling per year as compared being a window washer on a one story building.  A worker may require extra compensation of $100 per year to bear this risk (be indifferent).  The value of a statistical life would be the total extra compensation for 10,000 workers ($1 million) for which case there would be an expectation of one extra death per year.  
B.  If diminishing returns did not exist, it would be economically efficient to grow all the world’s wheat output in a small flower pot.
True.  If diminishing returns did not exist, then doubling the amount of wheat growing resources (water, fertilizer, seed, labor, …) applied to the flower pot would double or more than double (Increasing returns) the amount of wheat output.  Therefore, the added output from continually adding those resources to the flower pot growing operation would always yield equal or greater additional wheat output than applying the same resources to more land.  
C.  When the conditions necessary to have price takers do not exist, we expect to have price searchers.  In that case, it is likely that the sellers will earn economic profits.

True and False.  With the absence of the conditions necessary to have price takers (few sellers, product and spatial differentiation, or consumer information costs), we do expect to have “price searchers” (sellers that recognize that their output will have a significant impact on price, such that they cannot take the price as given.)  However, the same entry incentives are present as in price taking industries. In either case, entrepreneurs are motivated to enter an industry if the price exceeds average cost.  The fact that price will exceed marginal costs in price searching industries is of no relevance and has no implications concerning price and average cost.
D.  The fact that some airplanes collide is evidence that there is too little air traffic control.

False.  Of course we could eliminate airplane collisions – most simply don’t allow flying.  We could also reduce collisions by spending many more resources on safety controls.  But we trade off safety for other things (substitution postulate) all the time.  The efficient amount of safety occurs where the cost of increased safety is no longer less than the value of increased safety.  This will occur at a safety level that does not eliminate all risks from flying.  Collisions will therefore occur (and they are efficient.)

4.  A.  Explain the “Prisoners’ Dilemma” as discussed in class, and give an example of its use.
The prisoners’ dilemma is the economic analysis exploring the gains from cooperating (rather than competing) with rivals in an industry contrasted to the gains from deviating from that cooperation if the rivals will maintain the cooperation.   The “dilemma” is that it is better to cooperate if the rival would otherwise compete, but better to compete if the rivals are cooperating.  Examples of its use include understanding how successful cooperation is more likely if demand is inelastic; if rivals’ prices are known and known to be known; if products are homogeneous; if entry is harder.
B.  The demand curve facing price searching firms will be more inelastic if all firms selling similar goods raised and lowered prices together.
True.  The individual firm will no longer gain or lose customers to the other stores if it lowers or raises its price as occurs in the normal demand curve that holds the price of substitutes (competing firms) constant.  Hence the change in quantity from any change in price will be less such that the elasticity (%change Q/%change P) will be less.
C.  Having a lower price for admission to a movie theater for children under 12 can not increase the profit earned by the theater if the average admission charge falls.
False.  This is an example of price discrimination (charging the more elastic demanders, kids, lower prices than the less elastic adult demanders.  A clear illustration of the falsity of the statement is if the lower price to kids results in filling seats that otherwise would be empty.  In this case, the average revenue (average admission charge) would fall, but profits would rise.  
D.  The fact that the quantity demanded of leisure may rise with increases in the wage rate is inconsistent with the law of demand.
False – the law of demand holds constant a set of parameters including income.  However, when the wage rate rises, the price of leisure and income at the initial amount of leisure (its converse the supply of labor) rises.  As the wage rate rises demanders (of leisure) substitute out of leisure into labor (the law of demand) but the demanders are richer and are less give up leisure (the income effect).   When the wage rate rises we have both the substitution and the income effects occurring together with contrary directional impacts. 

5.  A.  Explain the phrase “Collusion,” and give an example.
Collusion refers to sellers cooperating in their pricing, setting price together, rather than competing, setting price taking as given the other sellers in the industry prices.  An example would be OPEC and the price of crude oil. 
B.  Your neighbor just moved in.  He grows roses that you enjoy seeing and smelling.  Because you enjoy the roses, there is no economic externality and no inefficiency. 
False.  The fact that you enjoy the roses means there is a positive externality, in that you benefit from your neighbor growing more roses though you are not a part of his decision as to how many to grow.  There will be economic inefficiency because your neighbor will not be taking into account your benefit in his decision as to how many roses to grow. 

C.  Public goods are goods for which consumers can not be excluded.
False.  Public goods are goods for which consumption by one does not reduce the amount available to others.  For example, the safety from external attack from national defense is a public good.  A consumer can be excluded from this benefit by deporting them out of the country.  
D.  Labor is the ultimate source of goods and services in an economy.
False.  Good and services arise from the combination of labor, resources (land, wood, coal, iron ore, …), and capital. 

1
3

